# Placing Decimals with Multiplication Name:

Deter mine the placement of the decimal in each product.
7 5.809 x 7.8 = 453102 N\
L C_ount b quant_ity o [ s 2. Add the amounts together. Y our answer
ST arSe e i fies gach feetee should have the same quantity of numbersto
5.809 has 3 .numbers right of the the right of the decimal.
deC|maI'(5.@) . 3+1=4
7.8has1 numbez 7r.|§)ht of the decimal 5,089 (3) x 7.8 (1) = 45,3102 (4)
Also noticethat 5x 7=35and 6 x 8 =48, s0 5.809 x 7.8 will be a more than 35 but less than
\_ 48 J
D 77x5222= 40209 4
2) 1.9x8.866= 168 45 4
3) 5x363= 1815
4) 6.82x28= 19009 6
5 93x2= 18 6
6) 3x482= 1 4 4 6
") 3x6.92= 2 07 6
8) 99x8= 7 9 2
9 9x9137= 8 2 2 3 3
10) 35x9= 315
11) 33x1= 3 3
12) 172x91= 156 5 2
13) 5x1675= 8 375
14) 5 23x7.795= 17 38285
15) 754x3457= 2 6 0657 8
16) 936 x 5.350 = 50160 2 4
17) 15x2158= 32370
18) gx96= 5 7 6
19) 2x58= 116

10.

11

12.

13.

14.

15.

16.

17.

18.

19.

Answers

1-10 [95]89|84 |79

74

68

63

58

53

47|

21

16

11

[ Math ] www.CommonCoreSheets.com 11-19]42|37|32] 26




ﬂh Placing Decimals with Multiplication Name.Answer Key

Deter mine the placement of the decimal in each product. Answers
7 5.809 x 7.8 = 453102 N
1. Count the quantity of numbersto the 1 40.2094
: . 2. Add the amounts together. Y our answer
right of the decimal for each factor. ;
, should have the same quantity of numbersto
5.809 has 3 numbers right of the the right of the decimal, 2 16.8454
decimal (5.809) 3+1=4
7.8 has1 numbez 7rlg)ht of the decima 5,089 (3) x 7.8 (1) = 45,3102 (4) N 18.15
Also noticethat 5x 7=35and 6 x 8 =48, s0 5.809 x 7.8 will be a more than 35 but |ess than 19.096
4, .
1 5, 18.6
) 77x5222= 4 0.2 09 4
2) 19x8866= 1 6.8 45 4 6. 14.46
3 5x363= 18.15 . 20.76
4) _
6.82x28= 1 9.0 9 6 o 79.2
5 93x2= 1 8.6
9. 82.233
6) 3x482= 1 4.4 6
7) 3x692= 2 0.7 6 w315
8) 99x8= 7 9.2 1. 3.3
9 9x9137= 8 2.2 3 3 »  15.652
10) 35x9= 3 1.5
’ 13. 8.375
11) 33x1= 3.3
12 14. 17.38285
) 172x91= 156 5 2
13) 5x1675= 8.3 75 15, 26.06578
14) 223x7.795= 17.3828°65 1. 50.16024
15) _
7.54 x 3.457 = 2 6.0 6 5 7 8 7 3.2370
16) 936x5.350= 5 0.16 0 2 4
18, 57.6
17) 15x2158= 3.2 370
18) 6x96= 5 7.6 w0 116
19) 2x58= 1 1.6
h 1-10 [95|89|84 |79 74| 68| 63]58]53] 47|
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